Installation Instruction

Part#: IB20DAJ1A REV: 20130801
Application:For_07-12 Toyota Fj Cruiser
Item Part Name QTY Item Part Name QTY

1 Drive Side Bar 1 2 Passenger Side Bar 1

3 Front Brackets (Driver/Passenger) 2 4 Middle and Rear bracket(Driver/Passenger) 4

5 8-1.25mmx 40mm Hex Head Bolt 12 6 8mm Lock Washer 12

7 8mm Flat Washer 12 8 M6X1-25mm Square Hex Bolt 12

9 M6 Flat Washers 12 10 M6X1mm Nylon Lock Nuts 12

Front Bracket Middle & Rear Bracket
Step Installation

1 REMOVE CONTENTS FROM BOX.VERIFY ALL PARTS ARE PRESENT.READ INSTRUCTIONS
CAREFULLY .USE ILLUSTRATION TO PORPERLY IDENTIFY BARCKETS AND SIDEBRS.
Starting from passenger side. Remove (6) existing bolts and set aside. And then remove the
existing running board, if equipped. Install (1) front bracket and (2) middle/rear brackets with (6) M8

2 x 40mm Hex Head Bolts, (6) M8 Lock Washers, (6) M8 Flat Washers, leave loose. As shown on
Fig1. NOTE: If vehicle does not come with existing running boards. Use existing bolts locate
underneath the vehicle.

3 Attach Bar on to brackets using (12)M6X1-25mm Square Hex Bolt, (12) M6 Flat Washers and (12)
M6 Nylon Lock Nuts,. Finger tighten. As shown on Fig 2.

4 Level Bar and then tighten all the fasteners.

5 Repeat Step 2- 4 on opposite side.

The instruction here is for your reference only. We strongly recommend the
professional installer for best result. We are not responsible for any damage
caused by the installation. Thank you for choosing our product!

Page 1 of 2




Installation Instruction

Part#: IB20DAJ1A

Application:For 07-12 Toyota Fj Cruiser

REV: 20130801

FIG. #1 PASSENGER
SIDE SHOWN

Mg HARDWARE

FRONT BRACKET

MIDDLE & REAR
BRACKET

FIG. #2 DRIVER SIDE
SHOWN

;‘ M6 Square Hex Bol ]

The instruction here is for your reference only. We strongly recommend the
professional installer for best result. We are not responsible for any damage
caused by the installation. Thank you for choosing our product!

Page 2 of 2




